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X4 F = H b RIA H HoO¥E T % # 2 B &
—0.4 -0.5 =0.7 -0.5

X 119, 400 327, 300 67, 700 204, 200
26 26 19 18 1 1 46 45

\ -1.5 -1.0 2.2 -1.5
Bieyn] [X 117,700 273, 900 87, 500 140, 500
27 26 7 7 6 6 40 39

-1.9 2.8 2.7 —2.92

AKX 93, 600 117, 400 74, 900 96, 700
33 31 10 10 5 5 48 46

- -1.3 -1.3 —2.3 1.4

F i T 109, 000 258, 600 80, 600 146, 600

86 83 36 35 12 12 134 130

—0. 1 -0.3 -1.3 0.2

X 94, 300 147, 100 55, 800 117, 600
29 26 27 27 2 2 58 55

0.4 -0.9 1.7 0.6

HOX 76, 100 80, 400 52, 900 74, 000
14 14 2 1 2 2 18 17

2.8 -1.8 0.0 2.5

X 56, 500 89, 800 32, 400 60, 900
13 13 3 3 1 1 17 17

-1.3 -0.6 -1.6 -1.2

MO 73, 400 85, 800 38, 000 73, 600
8 8 3 2 1 1 12 11

—1.2 5.6 =0.7

I K 45, 300 28, 500 44, 100
13 13 1 1 14 14

0.1 0.2 1.1 0.4

Hedb X 58, 800 84, 600 26, 300 60, 500
8 8 2 2 1 1 11 11

2.4 -3.6 2.6

KX 32, 800 53, 000 36, 900
4 4 1 1 5 5

- -0.9 -0.5 0.3 =0.7

N 70, 900 128, 400 42, 800 85, 500

89 86 38 36 8 8 135 130

- -1.5 1.7 -1.9 -1.6
TR 97, 500 184, 400 47, 800 117, 600
33 32 12 12 2 2 47 46

- -1.5 1.7 -1.5
g 62, 200 122, 500 86, 300
3 3 2 2 5 5

. 0.0 —0.2 2.1 0.2
=g 97, 400 189, 200 46, 500 121, 200
14 14 6 6 1 1 21 21

- 2.1 2.6 -1.9 2.2
e 42, 300 81, 600 26, 600 46, 000
28 26 4 4 2 2 34 32

- 0.8 -1.6 1.1
P 56, 000 86, 600 67, 500
5 4 3 3 8 7

- 1.4 2.5 -1.8
=TT 61, 000 87, 600 71, 600
6 6 4 4 10 10

- 1.4 -1.8 -1.6 -1.5
Bt 67, 000 89, 300 43, 900 68, 800
40 39 12 12 7 7 59 58

- 2.4 0.6 —2.3 2.1
T 49, 900 75, 800 27, 500 51, 100
23 23 4 4 3 2 30 29

- —1.2 -3.3 ~71.9 —4. 1
iR 56, 600 85, 800 50, 400 60, 000
17 15 3 3 2 2 22 20

- 2.7 2.5 2.6
HMI| 49, 000 72, 100 57, 400
7 6 4 4 11 10

- 1.4 -1.8 -1.5 1.4
FER L T 60, 400 108, 700 47, 000 67, 300
21 21 4 4 1 1 26 26

- =0.5 —1.2 0.6

T T 66, 100 131, 300 79, 200
12 11 3 2 15 13
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T XHT 4 F = H A PHOE M T 2% # 2 H &
2.6 -0.6 2.1
TR 44, 500 81, 700 55, 100
5 5 2 2 7 7
=3.0 -3.8 -3.3
T 57, 500 75, 800 64, 800
3 3 2 2 5 5
-0. 2 0.0 -1.0 -0.3
il 76, 600 129, 000 44, 500 75, 700
10 10 1 1 2 2 13 13
—2.8 -3.5 -2.9
e T 57, 000 75, 700 61, 300
10 10 3 2 13 12
- -3.2 —2.8 3.1
F 61, 500 83, 800 65, 200
5 5 1 1 6 6
-3.3 —6. 3 4.1
TV RITIRS 7T 26, 600 39, 000 29, 700
3 3 1 1 4 4
2.1 -2.9 2.2
351 37, 800 66, 800 43, 600
4 4 1 1 5 5
— N -0. 8 -1.8 -1.0
FHoET 76, 600 96, 800 79, 500
12 11 2 2 14 13
6. 2 =5.9 6. 1
Yoo g 33, 600 52, 000 39, 700
4 3 2 2 6 5
-3.6 =3.4 -3.5
WS RT 42, 200 82, 100 55, 500
2 2 1 1 3 3
-3.9 -3.9 -3.9
AT T 41, 800 70, 600 51, 400
2 2 1 1 3 3
— -3.5 -3.0 -3.3
FER ST 26, 300 38, 800 30, 500
2 2 1 1 3 3
=5.9 =5.9
KA ET 62, 600 62, 600
1 1 1 1
=) 1.2
PR T 62, 000 62, 000
6 6 6 6
-0.4 -0.4
V&K 112, 800 112, 800
5 5 5 5
0.5 0.5
FARET 114, 100 114, 100
6 5 6 5
2.4 2.4
N LT 34, 400 34, 400
7 7 7 7
=6.0 6. 1 =6.0
=1L 35, 800 53, 500 41, 700
2 2 1 1 3 3
1.2 2.5 -1.6
Homr 33, 100 34, 400 33, 500
2 2 1 1 3 3
B -1.5 -1.6 -1.6 -1.5
15 i 73, 900 147, 200 53, 300 89, 700
474 456 156 151 40 39 670 646
ET N, FEA -1.5 -1.6 -1.0 -1.5
E I B D4YFE 78, 400 148, 100 44, 000 95, 400
Z BB R E 393 375 153 148 27 26 573 549
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